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—. (56%) Multiple Choice ( There is only one correct answer. Each queasion weights equally.) .
1. Which of the following production function is of inereasing returns ta seale ? { where v, x, and ¢ =0}

2. t;ir:Il}--r-l--i
X, X

b. g =10lnx, +1Cinx,
c. g = 100x,x, - 5x} - 10x;

1 1
. g=x}! +x]

2. Consider a two-person (denoted by the first subscripts 1 and 2), two-commodity { dencted by the second subscripts
1 and 2 }, purg-excliange cconomy with U, = gq,,q,, + 129, +3g,, and U, =q,,9,, +Bq,, + 9q,, . Supposc the
endowments of these two consumers are (8,30) for the Lirst consamer and (10, 10} for the second, respectively. Then

the equilibrium price ratio of this econemy is

a. not existed, because some more information is needed.

d. None of the above.

3. All of the following items are caused of involuntary unemployment except

a. minimum-wage jaws.
b. the manopaly power of unions.
¢. unemployment insurance.

d. efficiency wages.

4, The opportunity cast of holding money is the -

4. noininal interest ratc.
b. real interest rate.
¢ rate of inflation.

d. prevailing Treasury bill rate.

5 Ifa larpe immigration raises the labor force, the neoclassical theory of distribution predicss :

a. the real wage wilt rise and the real rental price of capital will fall.
b. both the real wage and the zeal rental price of capital will fail.
¢. both the real wage and the real rental price of capital will rise.

d. the real wage will fall and the real rental price of capital will rise.
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6. The minimum wage rate in Tanhwan
a. is about NT§ 14,500 per month int Taiwa.
b. is usvally about 75 percent ol the average wage.
¢. is normally constant over Lime.

d. is applied to most employecs in Taiwan.

7, Efficiency - wage theories imply that firms pay high wages because ;
a. thig practice increases the problem of moral bazard.
D, it is important to improve worker's work norm especially in a highty developed country.
¢. the more a fiom pays its workers, the greater their incentive to stay with the Hrm.

d. paying high wages will leave the ficm with inferior highly paid empleyees,

~— {44%} Shorl Essays (Each equation weights equally.) ;

1. Please discuss [S-LM curve, aggtegate demand, apgregate supply, and their relationship with the business

cycle of an economy.

2. Roughly one-fourth of all American employees work in firms with fewer than 25 workers, while another
one-third work fn firms with more than 1,000, Waorkers in the latter groop, however, are much betler paid;
it hias been estimated that they eam 12 percent more than those with the same measured human capital
characteristics who waork in the smallest firms. 1t is also {rue that wages rise faster with expenience in the

largest firms. This situation also applies to the case in Taiwan, Why do large tirms pay more ?



	MA06_85_03_1
	MA06_85_03_2

